
1.  Joanne bought a bicycle that weighed 29 lbs (pounds).  She bought a 

basket with a rack that weighed 1.3 lbs,  a mirror that weighed 

0.24 lbs and a lock that weighed 0.625 lbs.  How much did the bike 

weigh with all these accessories attached to it? 
 

Show your work in the box below. 

 

 

 

 

 

 

 

 

 

 

 

 

 

Answer:  __________________________________________________________ 
 

 

2. Mary bought 2 shirts at $17.95 each and a pair of pants at $26.50.  

The sales tax was $3.74.  How much change should she receive if 

she gives the cashier 4 twenty-dollar bills? 

 

Show your work in the box below. 

 

 

 

 

 

 

 

 

 

 

 

 

 

Answer:  __________________________________________________________ 



3.  Four friends decide to go out for supper.  They take at taxi which 

costs $19.95.  The total cost of the meal is $60.55, and they 

leave a tip of $9.50.  If they share the total cost of the evening, 

how much will each person pay? 
 

Show your work in the box below. 

 

 

 

 

 

 

 

 

 

 

 

 

 

Answer:  __________________________________________________________ 

 

4.  Jody bought a bike helmet for $37.95, a lock for $12.39, a water 

bottle for $8.50 and 2 reflectors for $2.30 each.  The tax was 

$4.82.  How much change did she receive if she gave the cashier 2 

fifty-dollar bills? 
 

Show your work in the box below. 

 

 

 

 

 

 

 

 

 

 

 

 

 

Answer:  __________________________________________________________ 


